
SAP ABAP table N1APPLAN {IS-H*MED: Plan}

N1APPLAN

MANDT [CLNT (3)]

APPLANID [CHAR (32)]

EINRI [CHAR (4)]

POBNR [NUMC (10)]

ORGID [CHAR (8)]

RLSTAT [NUMC (3)]

N1RLST

MANDT [CLNT (3)]

EINRI [CHAR (4)]

STATINT [NUMC (3)]

 N1APPLAN-RLSTAT = N1RLST-STATINT 0..N

1

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)] N1APPLAN-ORGID = NORG-ORGID 0..N

1

NPOB

MANDT [CLNT (3)]

POBNR [NUMC (10)]

ORGID [CHAR (8)]

 N1APPLAN-POBNR = NPOB-POBNR 
0..N1

T000

MANDT [CLNT (3)]

 N1APPLAN-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N1APPLAN-EINRI = TN01-EINRI 

0..N

1


